EMMA BLANCHARD T 613.369.4755 eblanchard@blg.com Borden Ladner Gervais LLP World Exchange Plaza 100 Queen St, Suite 1300 Ottawa, ON, Canada K1P 1J9 T 613.237.5160 F 613.230.8842 F 613.787.3558 (IP) blg.com



Our File # 339583-000245

By electronic filing

January 8, 2018

Kirsten Walli Board Secretary Ontario Energy Board P.O. Box 2319 2300 Yonge Street, 27th floor Toronto, ON M4P 1E4

Dear Ms. Walli

Re:

Independent Electricity System Operator ("IESO")

Application for approval of 2017 Expenditure, Revenue Requirement and Fees

Board File #: EB-2017-0150

Pursuant to the Board's Decision and Order dated December 14, 2017, we enclose a Cost Claim on behalf of our client, Canadian Manufacturers & Exporters ("CME").

A copy of this Cost Claim has been forwarded to the IESO as instructed in the Decision and Order.

Based upon the hours spent by all counsel, CME's total fees in this claim would be \$10,188.00 We have voluntarily reduced Scott Pollock's fees by \$918.00, which reduces the total fees to \$9,270.00. This fee reduction is intended to address the overlap between Mr. Pollock and Ms. Blanchard, which overlap was necessary in order to bring Mr. Pollock up to speed on the issues involved in this case.

We hope the Board will appreciate our proactive review of the reasonableness of this Cost Claim.

Please contact us if you have any questions or require any additional information.

Yours very truly

Emma Blandhard

enclosure

Miriam Heinz (IESO)

Paul Clipsham (CME)

OTT01: 8672641: v1

Ontario Energy Board COST CLAIM FOR HEARINGS



Affidavit and Summary of Fees and Disbursements

This form should be used by a party to a hearing before the Board to identify the fees and disbursements that form the party's cost claim. Paper and electronic copies of this form and itemized receipts must be filed with the Board and served on one or more other parties as directed by the Board in the applicable Board order. Please ensure all required (yellow-shaded) fields are filled in and the Affidavit portion is signed and sworn or affirmed.

		Instructions			
- Required data input is indicated by yellow-shade	d fields. Formulas	are embedded in the form to	assist with calculations.		
- All claims must be in Canadian dollars. If applicable, state exchange rate and country of initial currency.					
	Rate	-	Country:		
Being Claimed") is required for each lawyer, analyst Disbursements" covering the whole of the party's - The cost claim must be supported by a complete - A CV for each consultant/analyst must be attached	st/consultant and cost claim should d Affidavit signed ed unless provided	articling student/paralegal. Is be provided. by a representative of the past to the Board as prescribed of	rty.		
File # EB- 2017-0150	Process:	•	ty System Operator - Application for enditure, Revenue Requirement & Fees		
Party: Canadian Manufacturers &	Exporters	Affiant's Name	: Emma Blanchard		
HST Number: 10807 5482 RT0001		_ HS1	Rate Ontario: 13.00%		
Full Registran	t 🗆	Qualify	ying Non-Profit □		
Unregistered			Tax Exempt \square		
Othe	r 🗸				
I, Emma Blanchard		Affidavit , of the City of	Ottawa		
in the Province of	Ontario		, swear or affirm that:		
 I am a representative of the above-noted party (the "Party") and as such have knowledge of the matters attested to herein. I have examined all of the documentation in support of this cost claim, including the attached "Summary of Fees and Disbursements Being Claimed", "Statement(s) of Fees Being Claimed" and "Statement(s) of Disbursements Being Claimed". The attached "Summary of Fees and Disbursements Being Claimed", "Statement(s) of Fees Being Claimed" and "Statement(s) of Disbursements Being Claimed" include only costs incurred and time spent directly for the purposes of the Party's participation in the Ontario Energy Board process referred to above. This cost claim does not include any costs for work done, or time spent, by a person that is an employee or officer of the Party as described in sections 6.05 and 6.09 of the Board's Practice Direction on Cost Awards. 					
Signature of Affiant	av. f				
Sworn or affirmed before me at the	City of	Ottawa	, , , , , , , , , , , , , , , , , , , ,		
in the Province of Ontario		, on	January 8 , 2018 .		
Ansica And			Variable 1		

Commissioner for taking Affidavits

Ontario Energy Board COST CLAIM FOR HEARINGS



Affidavit and Summary of Fees and Disbursements

Independent Electricity System Operator - Application for Process: approval of 2017 Expenditure, Revenue Requirement & Fees

File # EB-

2017-0150

Canadian Manufacturers & Exporters Party:

Summar	y of Fees and Disbursements Being Claime	d
Legal/consultant/other fees	\$9,270.00	
Disbursements	\$0.00	
HST	\$1,205.10	
Total Cost Claim	\$10,475.10	

Payment Information

Make cheque payable to: Borden Ladner Gervais LLP

Send payment to this address: Borden Ladner Gervais LLP

Attention: Emma Blanchard

World Exchange Plaza

100 Queen Street, Suite 1300

Ottawa, ON K1P 1J9

Ontario Energy Board COST CLAIM FOR HEARINGS



Detail of Fees and Disbursements Being Claimed

File # EB- 2017-0150	Process:	Independent Electricity System Operator - Application for s: approval of 2017 Expenditure, Revenue Requirement & Fees			
Party: Canadian Manufacturers & E	xporters	Service Provider Name: Emma Blanchard			
Service Provider Type	(check one)	-	Year Called to Bar		Completed Years Practising/Years or relevant experience
Legal Counsel	V	-	2007		11
Articling Student/Paralegal					
Consultant				H	lourly Rate: \$230.00
Analyst					
For Consultant/Analyst:		CV attached		HST Rate Charg	ged (enter %) 13%
		CV provided	within previous	s 24 months	
S	tatement o	f Fees Bei	ng Claimed		
	Hours	Hourly rate	Subtotal	HST	Total
Preparation		\$230.00	\$0.00	\$0.00	\$0.00
Pre-Hearing Conference					
Preparation	0.20	\$230.00	\$46.00	\$5.98	\$51.98
Attendance		\$230.00	\$0.00	\$0.00	\$0.00
Technical Conference					·
Preparation		\$230.00	\$0.00	\$0.00	\$0.00
Attendance		\$230.00	\$0.00	\$0.00	\$0.00
Interrogatories Preparation		\$230.00	\$0.00	\$0.00	\$0.00
Responses		\$230.00	\$0.00	\$0.00	\$0.00
Петропоса		Ψ 230.00	φ0.00	φο.σσ	Ţ0.00
Issues Conference					
Preparation		\$230.00	\$0.00	\$0.00	\$0.00
Attendance		\$230.00	\$0.00	\$0.00	\$0.00
ADR - Settlement Conference					
Preparation	1.00	\$230.00	\$230.00	\$29.90	\$259.90
Attendance	6.00	\$230.00	\$1,380.00	\$179.40	\$1,559.40
Proposal Preparation	4.50	\$230.00	\$1,035.00	\$134.55	\$1,169.55
Argument Preparation		\$230.00	\$0.00	\$0.00	\$0.00
7 Teparation		Q 200.00		40.00	
Oral Hearing Preparation		\$230.00	\$0.00	\$0.00	\$0.00
Attendance		\$230.00	\$0.00	\$0.00	\$0.00
Other Conference					WARRANT TO THE
Other Conferences Preparation		\$230.00	\$0.00	\$0.00	\$0.00
Attendance		\$230.00	\$0.00	\$0.00	\$0.00
Case Management		\$170.00	\$0.00	\$0.00	\$0.00
TOTAL SERVICE PROVIDER FEES			\$2,691.00	\$349.83	\$3,040.83



0.00

File #:	EB-2017-0	150					
Process:	Independent Electricity System Operator Application for approval of 2017 Expenditure, Revenue Requirement and Fees						
Party:	Canadian Manufacturers & Exporters						
Name:	Emma Bla	anchard					
July 14-17	Brief discus Application	sion with S	. Pollock re: preliminary review of	0.2	Pre-hearing Conf. Prep		
Sept 13-17			Responses re: Market Renewal Program ment Conference	1.0	Settlement Conf. Prep		
Sept 14-17	Attend by te	eleconferen	ce IESO Settlement Conference	3.5	Settlement Conf.		
Sept 15-17	Continued attendance by teleconference and participation in Settlement Discussions				Attend Settlement Conf. Attend		
Sept 26-17	Seeking instructions from CME re draft Settlement Agreement; e-mail to M. Rubenstein				Settlement Conf. Proposal Prep		
Sept 27-17	Reviewing r other interve from CME n unsettled iss and P. Clips	enors; repo nembers re sues; emai	1.5	Settlement Conf. Proposal Prep			
Sept 29-17	Review further revisions to draft settlement agreements; e-mails from intervenors; e-mails to intervenors re settlement agreement and form of hearing				Settlement Conf. Proposal Prep		
Oct 5-17	Review submissions from Environmental Defence and the IESO re: form of hearing; draft submissions re: form of hearing			1.5	Settlement Conf. Proposal Prep		
Nov 9-17	Review and	revise dra	ft submissions on unsettled issues	0.4	Settlement Conf.		
Nov 10-17	Review and	revise sub	missions on unsettled issues	0.5	Proposal Prep Settlement Conf.		
			Total Hours for Emma Blanchard:	11.7	_ Proposal Prep		
		<u>Hours</u>			<u>Fees</u>		
Pre-hearing Co	nf. Prep	0.2	x \$230.00/hr =		46.00		
Pre-hearing Co	nf. Attend	0.0	x \$230.00/hr =		0.00		
Technical Conf. Prep		0.0	x \$230.00/hr =		0.00		
Technical Conf	. Attend	0.0	x \$230.00/hr =		0.00		
Interrogatories	Prep	0.0	x \$230.00/hr =		0.00		
Interrogatory Responses		0.0	x \$230.00/hr =		0.00		

Issues Conf. Prep

0.0

x \$230.00/hr =



	11.7	Total Fees for Emma Blanchard:	\$2,691.00	
Other Conf. Attend	0.0	x \$230.00/hr =	0.00	
Other Conf. Prep	0.0	x \$230.00/hr =	0.00	
Oral Hearing Attend	0.0	x \$230.00/hr =	0.00	
Oral Hearing Prep	0.0	x \$230.00/hr =	0.00	
Argument Prep	0.0	x \$230.00/hr =	0.00	
Settle, Conf. Proposal Prep	4.5	x \$230.00/hr =	1,035.00	
Settlement Conf. Attend	6.0	x \$230.00/hr =	1,380.00	
Settlement Conf. Prep	1.0	x \$230.00/hr =	230.00	
Issues Conf. Attend	0.0	x \$230.00/hr =	0.00	

OTT01: 8672355: v1

Ontario Energy Board COST CLAIM FOR HEARINGS



Detail of Fees and Disbursements Being Claimed

File # EB- 2017-0150	Independent Electricity System Operator - Application for Process: approval of 2017 Expenditure, Revenue Requirement & Fee				
Party: Canadian Manufacturers & E	xporters	Service Pro	ovider Name:	Scott Pollock	
Service Provider Type	(check one)	•	Year Called to Bar		Completed Years Practising/Years o relevant experience
Legal Counse	V	•	2016		2
Articling Student/Paralega					
Consultant				H	Hourly Rate: \$170.00
Analyst					
For Consultant/Analyst		CV attached		HST Rate Charg	ged (enter %) 13%
		CV provided	within previous	s 24 months	
	Statement o	f Fees Bei	ng Claimed		
	Hours	Hourly rate	Subtotal	HST	Total
Preparation		\$170.00	\$0.00	\$0.00	\$0.00
Pre-Hearing Conference					
Preparation	1.50	\$170.00	\$255.00	\$33.15	\$288.15
Attendance		\$170.00	\$0.00	\$0.00	\$0.00
Technical Conference					
Preparation		\$170.00	\$0.00	\$0.00	\$0.00
Attendance		\$170.00	\$0.00	\$0.00	\$0.00
Interrogatories Preparation	15.70	\$170.00	\$2,669.00	\$346.97	\$3,015.97
Responses		\$170.00	\$0.00	\$0.00	\$0.00
incs portises		7170.00	\$0.00	γο.σσ	40.00
Issues Conference					
Preparation		\$170.00	\$0.00	\$0.00	\$0.00
Attendance		\$170.00	\$0.00	\$0.00	\$0.00
ADR - Settlement Conference					
Preparation		\$170.00	\$714.00	\$92.82	\$806.82
Attendance		\$170.00	\$1,598.00	\$207.74	\$1,805.74
Proposal Preparation	7.90	\$170.00	\$1,343.00	\$174.59	\$1,517.59
Argument Preparation		\$170.00	\$0.00	\$0.00	\$0.00
			, , , ,		
Oral Hearing Preparation		\$170.00	\$0.00	\$0.00	\$0.00
Attendance		\$170.00	\$0.00	\$0.00	\$0.00
Other Conferences					
Preparation		\$170.00	\$0.00	\$0.00	\$0.00
Attendance		\$170.00	\$0.00	\$0.00	\$0.00
Case Management		\$170.00	\$0.00	\$0.00	\$0.00
TOTAL SERVICE PROVIDER FEES			\$6,579.00	\$855.27	\$7,434.27



File #:	EB-2017-0150		
Process:	Independent Electricity System Operator Application for approval of 2017 Expenditure, Revenue Re	equireme	nt and Fees
Party:	Canadian Manufacturers & Exporters		
Name:	Scott Pollock		
Apr 19-17	Attending the IESO's stakeholder presentation	1.5	Pre-hearing Conf. Prep
June 5-17	Reviewing the application and evidence	0.7	Interrogatories Prep
July 4-17	Reviewing the application and drafting Interrogatories	2.4	Interrogatories Prep
July 5-17	Reviewing the application and drafting Interrogatories	1.3	Interrogatories Prep
July 12-17	Reviewing the application and composing Interrogatories	1.3	Interrogatories Prep
Aug 8-17	Reviewing application and writing Interrogatories	5.3	Interrogatories Prep
Aug 9-17	Reviewing application and composing Interrogatories	3.6	Interrogatories Prep
Aug 18-17	Reporting letter to the client and discussion regarding the market renewal project	0.8	Interrogatories Prep
Aug 17-17	Reviewing and submitting CME Interrogatories	0.3	Interrogatories Prep
Sept 11-17	Reviewing Interrogatory Responses from the IESO	0.8	Settlement Conf. Prep
Sept 12-17	Reviewing Interrogatory Responses in preparation for the Settlement Conference	0.6	Settlement Conf. Prep
Sept 13-17	Reviewing Interrogatory Responses in advance of the Settlement Conference	2.8	Settlement Conf. Prep
Sept 14-17	Preparing for and attending Settlement Conference; meeting with E. Blanchard in advance of the Settlement Conference	1.5	Settlement Conf. Attend
Sept 15-17	Attending Settlement Conference	6.3	Settlement Conf. Attend
Sept 18-17	Attending Settlement Conference by teleconference; discussion with P. Clipsham regarding the terms of the partial settlement and receiving instructions to partially settle	1.6	Settlement Conf. Attend
Nov 6-17	Reviewing Interrogatory Responses prior to drafting submissions	0.5	Settlement Conf. Proposal Prep
Nov 7-17	Drafting written submissions for the unsettled issues	3.5	Settlement Conf. Proposal Prep
Nov 8-17	Drafting submissions	1.2	Settlement Conf. Proposal Prep
Nov 9-17	Reviewing the IESO Interrogatory Responses for the two unsettled issues	1.4	Settlement Conf. Proposal Prep
Nov 10-17	Drafting and revising submissions; call with CME member regarding IESO issues	1.3	Settlement Conf. Proposal Prep

Total Hours for Scott Pollock:

38.7



	<u>Hours</u>		<u>Fees</u>	
Pre-hearing Conf. Prep	1.5	x \$170.00/hr =	255.00	
Pre-hearing Conf. Attend	0.0	x \$170.00/hr =	0.00	
Technical Conf. Prep	0.0	x \$170.00/hr =	0.00	
Technical Conf. Attend	0.0	x \$170.00/hr =	0.00	
Interrogatories Prep	15.7	x \$170.00/hr =	2,669.00	
Interrogatory Responses	0.0	x \$170.00/hr =	0.00	
Issues Conf. Prep	0.0	x \$170.00/hr =	0.00	
Issues Conf. Attend	0.0	x \$170.00/hr =	0.00	
Settlement Conf. Prep	4.2	x \$170.00/hr =	714.00	
Settlement Conf. Attend	9.4	x \$170.00/hr =	1,598.00	
Settle. Conf. Proposal Prep	7.9	x \$170.00/hr =	1,343.00	
Argument Prep	0.0	x \$170.00/hr =	0.00	
Oral Hearing Prep	0.0	x \$170.00/hr =	0.00	
Oral Hearing Attend	0.0	x \$170.00/hr =	0.00	
Other Conf. Prep	0.0	x \$170.00/hr =	0.00	
Other Conf. Attend	0.0	x \$170.00/hr =	0.00	
<u>-</u>	38.7	Total Fees for Scott Pollock:	\$6,579.00	